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Weigh out
1.00 mol NaCl
(58.44 g).
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Add water until
3| solid is dissolved.
3 Then add additional
b water until the 1 L
% mark is reached.
L 4
3

|

Be careful when preparing solutions of a fixed
molar concentration. It is the total SOLUTION
volume, (not the total SOLVENT volume) that

needs to be carefully controlled!

A 1.00 molar NaCl solution
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Be careful when preparing solutions of a fixed molar concentration. It is the total SOLUTION volume, (not the total SOLVENT volume) that needs to be carefully controlled!


Pari’l ‘M‘ mass/fa(t) 194 Ualum
< / )

- 'pfrcen{‘ (P(r - (00)
: (

| 1

| -COMMOTB N?O/w as o/o @ant
| - somehats »  pown . ppb

‘t lpaf‘). 'P‘U M:”fo,f\ .pqr‘) b 64.”1'0"\.
|

' - m‘l‘fo o}C solulz x —‘chrbr

| soluhiqn

X' O/b b\‘j Mass = PMGSS S'O‘uh 28 (0O

mass .SDV‘\
@‘.— l'gsﬂ MAC/Q VA '6'4 SOln.
< Q
(] (-3 o
/oku] Beis (Naay :i.giirloo = O°8‘15‘A
- J

] . " ¥
b\)( cown USe ’hvuzs( 70 he as SlMpk& C RIS »{KLN;.

enN S'o(ﬂ 41«0\“' s \So/o ‘Ju\ mass Mmeaus --.

o

)

/ \5\3 so[u‘h \ vt -,le'or ./

I, 1503 Sol?

Q- Howw much  ¢ol% do we noed i oides o lave 9\?_‘} solute £

25/3 I,OJ”Z{:( (%% sl* - ‘703 sof®

D




More olclubx So\!‘-i we UK ppw

L

mass solutx
M
mass _sol2

o

—
—

o x 10O

b

PgM = v *® lo

pb =« xlo

Fos Pa;k b\j uoLm - SO S(/Q'-u?.( as_ahove

Jw/{' weL vol A e\aa o“F Mast .

o/o (vo\um.\ = v‘ !o\l\tw E:‘o:ﬁv x OO c{-b

~ 40q thhansl 14 100.q beer.

Cranol t Budweier is 0% ebhand by e

()
G okiak s :"‘}r voluwe o/‘L?

A (Budweier) = 100U Yl d (ebhand) = O T2l

7
7

s
A.._ NuA vol 75 ¢ aﬂeg’N: vol (eﬂxanol\ v (00 3,,906»‘— ¢ /00

/ASSUME 100-9 besr ok gatet /q‘t-eom_

!Ol sl'kauo\ e 7“‘0-5 G / f - S"}o
d:M/\/ = V:% = —o'%ifuL:S'g(DML 7 éﬂ vol .
L o-749/.L

vol beer V= “‘4 = 1004 = 94-60,.L (u.;ﬂ /

|- 0043/ N s



Andrew Napper


Andrew Napper



